Biometry 755
Homework 3 
Assigned 2/12/09


Due 2/19/09 by 6pm
Name _______________________________________________
Construct categorical and indicator variables from the continuous variable FACS as described below.
1. Run PROC MEANS on the variable FACS and identify the 10th and 90th percentiles of its distribution.  Use the code shown below.


proc means data = one p10 p90;



var FACS;


run;
2. Construct a categorical variable called FACS_CLASS defined as follows:
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Use the SAS code below to help you, but remember to fill in the correct values for the percentiles in the data step.

proc format;



value ffacs



1 = 'small'


2 = 'moderate'


3 = 'large';

run;


data two;



set one;



if FACS le fill in 10th %tile then FACS_CLASS = 1;



else 



if 10th %tile < FACS < 90th %tile then FACS_CLASS = 2;


else


FACS_CLASS = 3;


Format FACS_CLASS ffacs.;


run;

Now complete the following.

a. Use PROC GLM to conduct a regression of risk of nosocomial infection on FACS_CLASS.  Provide an interpretation of the parameter estimates for FACS_CLASS.
b. Conduct a test of the significance of the association between the three-level categorical variable FACS_CLASS and INFRISK.  State your conclusion.
c. Explain the difference between the test in part b. and the individual t-tests provided in the parameter estimates table?
d. Construct estimates of the average risk of nosocomial infection for hospitals that provide a small, moderate and large percent of available facilities and services.
e. Use the ‘ESTIMATE’ statement to compare the risk of nosocomial infection between hospitals with a large versus moderate percent of facilities and services provided by the hospital.  Interpret your answer.
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